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1.

There are 60 multiple choice type questions in
this Question Booklet, Total Time 60 minutes
and Full Marks 60. The questions are made of
the following four sections : Section-I (General
Knowledge), Section-II (Current Affairs),
Section-IIl (General English) and Section-IV
(Arithmetic). Each
15 questions. All questions are compulsory.
Each question carries equal mark. There is no

section consists of

negative marking for wrong answer.

This Question Booklet is sealed by a reverse
jacket. The candidate has to cut open the
jacket 'shown on the opening side of the
Question Booklet.

The Question Booklet comprises 20 pages -

having 60 questions. After being instructed to
open the Booklet only, the éandidate will open
the Question Bobk]et at the indicated place.
Check whether the Booklet
60 questibns starting from Page No. 3 to 17.

contains’

Rough work, if any, may be done in the
Question Booklet only in the space provided at
the end of the Booklet. Do not tear it off from
the Quesuon Booklet. No additional paper shall
be provided. -

Cut here

]
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CUT HERE TO OPEN THE QUESTION BOOKLET L

PR oo 1T 6 XA AR TG G R st o7 o, 21 7 20 G
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Read the rest of instructions in Bengali & English at Page No. 20, last page of this booklet.

Whatsapp Now- (+91) 8001650019

1 of 20

:

QYR F1GR



www.ExamBangla.com

O::-s). -

Csscc-2017

g231c ' ” 2 of 20

Whatsapp Now- (+91) 8001650019



www.ExamBangla.com

CSSCC-2017

ot -1
HiYIqe @i

Section - I
General Knowledge

@3 et ot 15 1 e g | et epg S|

There are 15-questions in all in this Section. All questions are compulsory.

1. forfm ceeers e S[is

( A)\ IGE (B)  SICERETH

€ wnfEs (D) A& |

Victoria falls is located in

" (A)  Russia (B) - Australia
(C)  Africa (D)  Brazil.

@ co s R AT s Seifis, Gift 7T 1

e B wREEE
(C)  XRCYMEH, (D) I TIRHIRT |
The gas pfesent in the highest proportion in air 1s

(A) Oxygen (B) Nitrogen -
()] Hydrogen

@) TFRTES (I A

(A) 44 b e

(D) Carbon dioxide.

(B) 48T @™
©)- 46T cerionTeT (D) 23 B G |

The human cell contains

(A) 44 chromosomes (B) 48 chromosomes
(C) 46 chromosomes (D)" 23 chromosomes.
[Goza  e231c
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A) - a3 ey (B)

€ a3 Tormnfs (D)

Jhum is

(A)  afolk dance (B)

(C)  atribe (D)

4l et ofifers 2

(A) 5%TH (B)

(C) 16 ¥ (639 (D)

Earth Day is celebrated on

(A)  5th June (B)

(C) 16th September (D)

) femifim A-q anfer v afb 2y, ¢ilt ==

(A)  ASHIE] (B)

©c =S (D)

Deficiency of Vitamin A results in

(A) night blindness (B)

(C) scurvy (D)

RonenEe s &=

(A) Sy stz T (B)

(C) A& (¥ =41 (D)

The function of hemoglobin is

(A) to transport oxygen (B)

(C) to prevent anemia (D)
503

O3B T AN
a3 BIEd Aate |

the name of a river

a type of cultivation.

22 1 @fere

12 3 (V|
22nd April

12th May.

fared

5 #i%l |

rickets
hair fall.

AT @A F41

“feq IRARE 41|

to destruct bacteria

to utilize energy.
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A) Y NI @RI B) GRS wOINEE QICh kel
(€) WD virs ausib o (D) GGG censnfiz v Beferret coret |
JPEG is a picture file format — what does JPEG stand for ?
(A) Joy Prakash Encrgy Group
(B) Joint Photographic Extension Group
(C) Joint Photographic Experts Group
(D) Joint Programmiﬁg for Ecological Goal.
AL WS (R SERA SRR
- a)  x3Fr B) fetee afa
() [&===6 | (D) SIEAIG |
Alfred Nobel invented
(A) X-ray . (B) Diesel engine
(C) Dynamite (D) = Dynamo.
10.  TTE% GOED o -9 A |
(A) TES B B
(C) EIE - (D) - §oHI
Mount Everest is located in
(A) India (B) China
(C) Nepal (D) Bhutan.
11,z A wal’ aifta et srifds ¢l =@
(A) @G B) PG
() aTgH (D)  CoOr |
‘Ramsar site’ is connected with
(A) Wetland (B) Grassland
(C) Forestland (D) Valley.
g23lc 503 S of 20
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ENCEREN{G{ORACEY

(A) IO I S B)  @AfEEIG AbrarE i

(C)  DACIHE BT SHir> (D) @CRIG b 20T

'CNG' stands for
Conduced Natural Gas

(A) Converted Natural Gas (B)
(C) Conducted Natural Gas (D) Compressed Natural Gas.
[’\13- e <A@ b 20T ML 2
o (A) 208 (B) 206
(C) 209 (D)  204.
-Number of bones present in human is
(A) 208 - (B) 206
(C) 209 ; (D)  204.
14.  ZCTE @2 G AT SAES 2 -
s (A) W4T 2T (B) GIfEES
) C) T=EE (D)  Tw o |
Ellora caves are located in the state of |
(A) Madhya Pradesh (B) Tamil Nadu
(C) Maharashtra © (D) Uttar Pradesh.
(15, el o wicafirs gl AFoaer o ¢
(A)  CoIE=IT] S (B) S
(C) AT (D)  GIefemIfd |
‘Which of the following reserve forests is not located in West Bengal ?
(A) Gorumara (B) Manas
(C) Sundarban (D) Chapramari.
g231c : 503
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Section - II
Current Affairs
a3 f5as b 15 6 o g | e o2 SR |

There are 15 questions in all in this Section. All questions are compulsory.

Gc}\i AR AL IS ZER

(A) T TS ’ @) =N REeEw

(C) AT OH | . (D) AFESw SO |

The author of the novel Ananda Math is ‘ %

(A) Madhusudan Datta (B)  Swami Vivekananda
(C)  Nabin Chandra Sen (D) Bankim Chandra Chattopadhyay.

. | '
67.- a7 V&I (N 1 NP o7 Sesiq ofe 5@ ?
/ .

(A) 3B @ @ - _ (B) FMICl

(C) = ¢t AN ' (D)  SCEfeTn

Which of the following countries celebrates Christmas festival in summer season ?
&) USA.[ _ . (B) Canada
“(C)  Great Britain (D)  Australia.

18. (I SO (N1 2014 AT NAETSS SO A ‘\-g_ﬁi\? RETRT ?

(A) EGOIR NI Tl B (B)- CRISTII ST AT STt
© e @@y (D) ST AT

- Which national leader received Bharat Ratna Award posthumously in the year 2014 ?

(A) Vallabhbhai Patél o (B) Moulana Abul Kalam Azad
. (©) Gopinath Bardoloi (D) = Madahn Mohan Malaviya,
g231c 5 - [s03
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19.  CoEEHI Al afde gz (1 HAIET ©f 2
(A) 2011 (B) 2012
(C) 2013 e (D) 2014
The state of Telengana was formed in the year
(&) 2011 . (B) 2012
(C)." 2013 (D) 2014

@0 Rl Reriom e 6 Wﬂw Orgd 0T GGS ?

(@)

(C)

(A)
©

(A)

(C)

(A)
(C)

BRI (B) WTHW*
I (D) eI |

On 26th November, 2014, 18th SAARC summit was held in
Islamabad (B) Katmandu
Dhaka : - (D) Colombo.

(A)
(B)
-(C)

(D)
On August 13, 2014 Planning Commission was replaced by

(A)
(B)
(€)
(D)

g231c
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ey carg . (B) ET?ZW?H‘;(

RIECEOET (D) M FA |

Einstein

51, 26 C ACSE, 2014 T 18-S A A T IO 2

622) SH191E 13, 2014 I oyl SR T GO R AfrS FECE O 2

AT 3AREHSwA T FroTwafig 3R A
SPTET (BSAATHID SIS ‘
fRpyeoT M

3. @ fon.1

National Institution for Transforming India Aayog

National Development Council

Finance Commission

CAG.

503

Who amohg the following scientists was associated with the theory of Relativity ?

Niels Bohr (B) ~ Heisenberg
(D) Madam Curie.
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53, SIATSA I SN SRR SGRICAN cwoietr (2, B, [, @) 27
(A) R (B) A1
© v (D) Qe |
India's maiden nuclear-tipped inter-continent.al ballistic missile (ICBM) is ’
(A)  Akash '

(B) Prithvi-III
(C)  Agni-V

(D) " Brahmos.
(&) oMb G (B) Ao
) @A " (D) b
Which will be country's 13th major port ?
"(A) Port Blair |

(B)  Paradwip
(C) Enayem

(D) Kochi.
@3 mmmmmmwmﬁ
A e ’ (B) 3fs
) &R (D) - ToIe |

Roger Federer is associated with
(A) Badminton

(B)  Hockey
(C) Tennis

(D)  Football.

. 26. TP SRISHFRF @6 gaifon braaE emEed w0z o i % 2
Cm) R B s
© T D) I _
Name of the NASA's spacecraft which is orbiting around Jﬁbiter is
(A)  Galileo ; (B)  Europa .
(®)] Juno (D) - Dawn.
g231c 503
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27. | NCXGMICY QRO (5 SRE S 7

(€)

Who discovered the ruins of Mohenjodaro ?
(B)

(A)

(C)

(C)

Which Indian state is most recently formed ?
(B
(D)

(A)

(©)

(A).

G e

QIRER QNS
John Marshall

Rakhaldas Banerjee

Bfa*5rs
TEAIG

Chhattisgarh
Uttarakhand

20, W@@ﬂﬂ*@ﬁ

(A)

(C)

(A)

(€)

30. N8l @srce 2 @ A SwelE N M e 2

(A)

(C)

Maitri Express II will run between

(A)

(C)

g23lc

=1

RO

-

The Nétional Bird of India is

Eagle

"Peacock

PPNl - GIFl

FoTRro] - A

Kolkata - Dhaka
Kolkata - Barisal

(B)

(D)

. (D)

S oifde wiolg g v fs 7

(B)

(D).

(B)

(D)
(B)

(D)

(B)

(D)

(B)
(D)

503

VI AR

f. fa. =1 |
Dayaram Sahani

B. B. Lal.

AT

CoGETSTAT |

Jharkhand

‘Telengana.

9<%

Crow

Ibis.
<FTETO] - TSP |

Kolkata - Khlilna
Kolkata - Rajshahi.
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Section - III -
General English

@R fenst (16 15 6 ery iy 1 1t epd wfn|
There are 15 questions in all in this Section. All questions are compulsory.

31. "Iregret to inform you that ...... " :
The above would be the beginning of a letter conveying
(A) sad news : (B) a denial
(&) an acceptance ' ' (D) an emergency.

39 Another baffling change that I notice in him nowadays is that her

@ EEE A B) W
avoids to speak to me. : & :
(d) g . g

Which part in the above sentence has an error ? :
(A).  a : . (B b
(€) c ‘ ' (D) d.

33. Write an abstract of this essay.
The underlined word means , .

\?Z”: (A) summary y: (B) title

(C) plan . / (D) conclusion.

34.  Pick out the correct sentence : _

(A) To be intelligent is more essential than being hard-working
“(B) Being intelligent is more important than, to be hard-working
(C) For one to be intelligent is more important than being hard-working
(D) Being intelligent is more essénﬂMyeing hard-working. .
- 35.  "Would you mind moving the car ?" -

The above sentence is a
(A) query ' (B) poli{e request
(C) an advice ' (D) a suggestion.

36. Whatis the time ............... your watch ?
(A) in - gk (B) by

(©) on (D)  at.
g231c S03 I 11 of20
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37.
38.

39.
40.

41.
42,
43.

44,

i 45

I will try to be on time butdo not worry when I am late.

(a) (b) () ] (@

Which part in the above sentence has an error ? 4

(A) a (B): b

€ ¢ - (D) d

"Or is it some humble lay
Familiar matter of today ?"
In the above lines the word 'humble' means

(A)  weak (B) = cowardly
(C)  insignificant = (D)  meek.
One or two stars were still .........occeee in the sky.

(A) burning (B) turning
(C). twinkling ~ ' (D) . tinkling.

The boys \Manted to play football were dlsappomted when it rained.
The above sentence is a

(A) complex sentence ) (B) compound sentence :

< simple sentence . \ (D). mixed sentence.

Pick out the antonym of the word 'trivial'.

-~ (A) important ' \//B) insignificant

(C)  futile , (D) fast.

A group of elephants is called a
(A) collection (B) herd
(®) school ‘ ) - (D) litter.

_Pick out the correct sentence :

(A) Bhupen do not know the way (B) Bhupen do not knows the way
(C) Bhupen did not knows the way (D) Bhupen does not know the way.

Rahim's doctor advised him 1O vieiveidi ... as acure for his sore throat.
(A)  babble : (B)  gargle
(®) giggle (D) -gurgle.

' cannot understand what is written here.’ :

Choose the correct phrasal verb to replace the underlined word in the above Sentencc.
(A) hold on (B) = give out

(C) make out - (D). give away.

g23lc o 12 of 20
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46. O HWOCHTAR Ml 15% JTE WA oFF 15% INCE, CFRaTE *odl #faeT 3@
A) %% EIET 7 (B) 2%%@?{
/
(©) %% I (D) 2%%%}!3
If length of a rectangle iﬁcreases by 15% and breadth.- decreases by 15%, then
percentage change in area is
3o, - ) ‘ 2
(A) 5 Yo Increase _ (B) 25 % decrease
4 . ' : \ 1w
(©) 5% increase / (D) 22%‘ decrease
47. 17,051 @d% 0-153 383071 foAlow o171,
(A) 0-17 _ (B) 1-7
(Cf 0017 e L (D) 00017
The H.C.F. of the three numbers 1-7, 0-51 and 0-153 is
(A) 0-17 _ . ;.By. 17
(C) 0017 _ (D)- 0-0017
a8, - ofF @3l 9% 10% =hore Rfe waetl W OF WRe 54 bl @Fs f[ife 798 @ 8% @S
zo | qfefoa fReagen
(A) 290 Gl ' ‘  (B) 300'31?:51
(C) - 350 51l | | (D) - 270 I
2231c | 503 13 of 20

CSSCC-2017
T - 1v
Aol

O

Section - IV
Arithmetic

O s @6 15 B o w1 sioet o8 wiFan|

There are 15 questions in all in this Section, All questions are co'mpulsory.
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49,

@b H @ 620 BRI @98 G 4R (I 25% 1 B0 A 15% e RiE w7

‘Cost price of an article is Rs. 620 and it is 25% below the ma

Hari sold a watch at a loss of 10%. If he would sell it at Rs. 54 more he would have a

profit of 8%, the sell price of the watch is
(A)  Rs.290 . (B) . Rs.300
(C)  Rs. 350 ' (D) Rs. 270

W O@ *eFql & @

(A) 12%%- . (B) 13%%
(©) 11%% | (D) 14-:23-%

rked price. If the article

is sold at a discount of 15%, the percé:?itage of profit is

(A) 12%% ' _ ' < (B) 1‘3%0/0 ;
1 . 2

8! 1=-9 =

(€) 1 3‘/0 . D) 143%

1000 f§ el Tol wawe 16 15 i 27 i =t T 6 IR AT 26T & @FR
LA FEIH TN FACD ..o iirinn S | '

&y~ 3T : B) 7Ww¥

c 2 € D) - 4f=

16 machines take 27 days to make 1000 parts. If 2 more machines are installed, to

make same number of parts number of days reduced by
(B). 7 days
(D) 4 days

(A) 3 days
(C) 2 days

oA SaLoTa ST Q%Wﬁa@,e@%@‘maquwmhs TN @8 SEeirets qf

51,
TR A (U %‘@ﬁtsﬁwsmwr@ﬁm
A -0 4 723
(A) —8_’-1_-.5’9 ) (B) 913’5‘
| 3 4 2 753
g231c 503 | e e 14 of 20
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Sum of three fractions is 2%. If the ratio of the largest and the smallest fractions
is 7 : 6 and this ratio is -:13— more than the middle fraction, then the fractions are
- T 7 2 3
Ll A B L2 =
(&) 8’10°'9 B) 9’3’5
342 7353
© 573 » O 5%32
52.  (4)°Sx(0-5)*x2%-aq W A
1
_— 1 . J
w3 - ®)
‘ 1.
© 2 D) %
Value of (4)°° x(0:5)* x2% is
: ,
@ % | ® 1
: 1
&%:y, 2 _ L
53, ﬂTﬁWtﬂ@ﬂIWW‘Pﬁﬂﬂl CSIQC?I'CW 6C5TCW 4 (TP, 10@@‘5&9%8?{(@5
Rrfere e | YN AN IEHE 27 (IF O9F ToIH (T8 T @ 6@ ?
(A) 11 919 . : 7 (B) 8919
(C) - 1231 (D) . 939
After ringing together 5 bells begin to ring at intervals of 9 secs, 6 ses, 4 secs, 10 secs
and 8 secs respectively. How many times the bells w111 rmg together in one hour
starting from first time ringing together ? '
(A) 11 times (B) 8 times
(C) 12 times (D) 9 times
54. (& HfEG"ﬂ RYICE 5, 6,7, 8 AR 9 44l Q% FIC IVFHN 4, 5, 6, 7 QIR 8 I YFE ~
g . . ' = A A * s
\9/ 2519 ' FE ' (B) 5039 :
1079 (D) 979
g231c 503 15 of 20
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Which smallest number leaves remainders 4, 5, 6, 7 and 8 respectively when divide

by 5,6,7,8and 9 ?

(A) 2519 (B) 5039
(C) 1079 - (D) 979

55. 500 BT Sol 40% BT €% 500 BT oA ool 36% R 4% WG AT 2

‘ ¥ : :

(A) 25 ﬂa/ 7-20 BTl
(C) oA _ (D) 18T
»The difference of 40% discount on Rs. 500 and'successive discounts of 36% and 4%
on Rs. 500 is
(A) Rs.2 ; “ (B) Rs.7:20
(C) Re. O ‘ (D)  Rs. 18

26, @3 weMAE 9 A 1,200 Bl S WG T @38 B 750 G 4 MOTH ST (| Tfr &
JRAIT 450 b1l +11e 2 O A 8 B-d I F0ST SFATS
A) - :3:2 - (B) 5:3
(C) 2:1 D) 4:3
In a partnership business A contributes Rs. 1,200 for 5 months and B Rs. 750 for
4 months. If there is a profit of Rs. 450, then ratio of the profit of A and Bis
(A) . 3:2 ' B) 5:3 :
) <N A (D) 4:3

57. 0-841§i-aimwﬁx¢mwwm3wm§@m:m sifgeTe FAET 29 8 TR AL
A
(A) 29 (B) 87
(C) 67 | (D) 13
If the recurring decimal _0-84153—1 be written as a fraction in its lowest terms, the
difference between the denominator and the numerator is . '
(A) 29 ' (B) - 87

() 67 (D) 13
g231c . 503 \ ' 16 of 20

Whatsaop Now- (+91) 8001650019



www.ExamBangla.com

CSSCC-2017
58. 14 & ¢ 12 iy @alb Baewet e sial 3w 8. fie B¥aeue® wime 7 or
fsfie WM To6w @ #1512
Ay 9% S B)  7%H
) 3% (D) 6%H
14 persons can sink a tubewell in 12 days. How many extra persons are required to
sink the tubewell in 8 days 3 4 "7
(A) 9 persons , -(’B‘)/ 7 persons QY qo |
- (@ 3 persons (D) 6 persons “/‘H "
: : e \ A A
_ i A
59. «%fb wEE TR A 10%, 20% 9% 30% RIS TW?U G 2 % n,,/o

, &~
(A) 454%° - - J ‘@O/ 49:6% . ™, A q/ ("\’T)/cb
(C) = 52:7% 2 582% | @

The successive discounts of 10% 20% and 30% on an article is: equlvalcnt to ‘the
discount of s ™

(A)  454%
(C)  52:7%

B)  49:6% 9\\‘ b

9
(D) 582% 5%
, STy %

60. uﬂaﬁ%mﬁi‘mﬁmcﬁ‘qmnﬁsﬁ@m 105&@?@&@@@%%%

0

AR
( sy
1 ' - 2 :
= £
a) 4g B) 831
p) ' 1
(C) sacvr’ D) 3 C

Time taken by a train 70 metres long to cross a bridge of length 105 metres w1th a
speed of 75 kmph is.

Car
(A) 45 sec Log ) (B) 85 sec \A‘. : ?D .g’)/

Yro | AT oro
Whatsapp Now- (+91) 8001650019
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fStf=t / INSTRUCTIONS

( WPTTBILA TG @ A7 B9 / Read carefully and comply )
| @77 / IMPORTANT

0

il

@ Qtsret w1z w2t SN HAA Gla WG @16 (AT o) EefEmtae szl including candldate’s
At the time of verification of candidature the candidate should submit his/her Admit Car
portion) to the Invigilator. ' ) '

SRR s 2T (1 fo OMR Seaeitan AR 4 siaera epefya a2 e 01 cribed place in the [*
. the Question Booklet No. has been filled correctly at the pres

e S TeRn wed el e

The candidate must ensure that

OMR Answer Sheet. = % ' BfeferhEd
SIS % wre sy o Awd) $1F OMR Seacta SRl Mo o @3t 3o 7
T R o S eraeifET SRAWIE I A [T (909 S |

The candidate has to hand over the -OMR Answer Sheet to the Invigilator and he/she will'tak v/
Card from the Invigilator while leaving the examination hall. The candidate will carry }le/her

him/her after completion of the examination.
3-9 oM@ werefE off

e back his/her portion of Adrpit
Booklet along with

I0-

11.

12.

13.

14.

15.

y Question Booklet and OMR Answer Shect. After opening the Question B

‘ out which answer, according to you is correct. Indicate your ‘answer by darke

el veorgang oig @92 OMR SaRews TR 1, 2, 3, 5 6 6 @ eroffEg GORA 1, 2 99X ‘ gl
SEA | nﬁmwﬁmm%qmv\\mi ﬁlﬁm%mwmwwwwomn@ﬁﬁm 7N TR
N ©fR Wifte wremr Mo B s . \ g
OMR Answer Sheet and S1. Nos. 1,

personally responsible for the

¢

Read compléte instructions carefully and fill the details in Sl Nos.' 1, 2, 3,5 & 6 in the 7
in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be

consequences arising during scanning of your OMR Answer Sheet. X
ermsifEers Ak TH oMR Tagere 42 i) :
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